@ 3(x-1)+1=3x-2

D x2-2x-6=0

@ x2-2x=3+x2

® 4x-3=-3x+14

4+ 5x

® 5(x+1)



o A4 FollM et sk x = -1 9 A2?

DO 2x=5x-1 @ x-1=2x-3
® 3x+4=1 @ 2(x-1)=x

® bx+4=6x-5



3. WA 3x-11 = —5x+13 9] a7} x of] TR YA A 3(ax—2) = 2ax+6
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D1BA @304 ®36AA @394 & 48 A



71z29] Zdo]7h Alze] Zol et sem ¥ A1, Se2] 2017} 18cm <
22k 0] ol i

@ 12cm? @ 14cm? @ 16cm?

@ 18cm? ® 20cm?



6.



169 & o, AL & F=2

® 25 @ 27 ® 29



A welda, b, coll ot a+3=b-5,c>0 < W, oh= 5 &4
A2 A2
D a+8=0b @ a-b+c=c-8
5 b-3
® ac+ bc=-8¢ @i:—

(& C

® a-c=b-c-8
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